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(1) The diagram shows part of a hundred square.

30

34 40

(a) Complete (i) 30+ =34 (i) 34 + =40
(b) Complete the statements below using either 30 or 40

(i) 34 is closer to ~ than

(ii) 34 correct to the nearest 10 =

(2) The diagram shows a number line.

| N N N N | N N N N |
50 58 60

(a) Complete (i) 50+ = 58 (ii) 58 + =60
(b) Complete the statements below using either 50 or 60

(i) 58 is closer to ~ than

(ii) 58 correct to the nearest 10 =

Answers Q3 (a) (i) 7 (ii) 3 (b) (i) 70 than 60 (ii) 70
Q4 (a) (i) 3 (i) 7 (b) (i) 50 than 60 (ii) 50
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30

34 40

(a) Complete (i) 30+ =34 (ii) 34+ =40
(b) Complete the statements below using either 30 or 40

(i) 34 is closer to ~ than

(ii) 34 correct to the nearest 10 =
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(3) The diagram shows part of a hundred square.

60

67 70

(a) Complete (i) 60+ = 67 (ii) 67+ =170

(b) Complete the statements below using either 30 or 40
(i) 67 is closer to ~ than

(ii) 67 correct to the nearest 10 =

(4) The diagram shows a number line.

| N N N N | N N
50 53

(a) Complete (i) 50+ =53 (ii) 53 + =60

(b) Complete the statements below using either 50 or 60
(i) 53 is closer to ~ than

(ii) 53 correct to the nearest 10 =

Answers Q1 (a) (i) 4 (ii) 6 (b) (i) 30 than 40 (ii) 30
Q2 (a) (i) 8 (i) 2 (b) (i) 60 than 50 (i) 60
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(ii) 53 correct to the nearest 10 =

Answers Q1 (a) (i) 4 (ii) 6 (b) (i) 30 than 40 (ii) 30
Q2 (a) (i) 8 (ii) 2 (b) (i) 60 than 50 (ii) 60

EEO®S0 correct to the nearest (3)

correct to the nearest (3) SRS Learning Limited



